LINSY /B 2X/E

QAT X 93 R ) 22 A5 5 T 2
How to distinguish the left and right
directions of the bed?

K1 =Rz K
Figure 1: Foot
installation diagram

K2: Mt zirn e’

Figure 2: Schematic diagram

of corner code installation

(G)

0. %

(F)

Step )
Rk /R

Head/end of Eiij? """ () - 2
bed =T 0-- oo
‘ -LZ::\_:@
=7

B¢ ®

SeAE AL BT R L/ IR b

First, lock the corner code
on the head/end of the bed

Step 2

R=k/ K&
Head/end of

(D)

o= =)
® © B
A EE RN -

Then lock the corner
the side of the bed

PR
Side of
the bed

code to

KI3: PRECPTTE B 22 B 5

Figure 3: Installation diagram

of mattress anti—skid hook

(J)
(C)

(B)

P e = = .
7R IRE K /Assembly Instruction Right
&l
FE A4 FR Model NO. PC218-A HE 2 A% il
Ranked bed slat specifications
FE K Specification 1500%2000 (1440%1960)
JR~F2H4 Combined size 2210%1600%1010mm ' .
B NBHTERR b, 43 2247 J7
Lie on the bed, facing left and right
Fcf4- 3% /Accessories list EBEER /Parts List (BIFAY A4 375 1 )
5% o xp N e KR o
NO. §§ﬂ§dﬁame R Teon | UEQTY NO. [Name Specification | QTY MBmaterial
LIS (5 2o ) \ Rk FAAK IR BB+ G+ 2 A 1
A |[Mounting Instruction & 1 @ |The head [1600%240%1110| 1 Pine wood + plywood + sponge
(With drawing ) of a bed + Dermis+Artificial leather
L PRA A A+ A+ N B
B MB*20 44121~ FHE AT @ 36 @) |Side of 1985%45%225 2 | plywood + sponge + Artificial
M8*%20 bevel cross bolt the bed leather
C M8 M8 pad 34 3 R AR A A1
- (52%52+76mm) BE > S 4f il 3 |The end of| 1540%45%225 1 plywood + sponge + Artificial
et 5N leath
D |Corner code - (52%5276mm) 4 the b;d . e
Frosted black corner code ;;ji;hﬂz
a
FRD— (182518254 1mm) BEND 2 ff ) GES o
E |Corner code —(182#182%41mm) 1 |@ 501:1db ; 1440+1960 | 1 Pine wood
Frosted black corner code W?Ot ©
sla
SG— (EL1£272%40mm) /b 238 FH /I~ [ Ji
F |SG-(diameter 72*%40mm) sofa 4
general small round feet
o [VB*45AFUEHT 9
threaded rod M8#*45
g | MB*TORKL IR A
M8*70 bevel cross bolt
17OMMHE B B2 SEAR H HI-01
(ZrM8* 154k 1)
I |170MMsolid wood midfoot for =, 4
slat—01 (including M8+*15 hammer
head)
(290+48:184mm) 1 2 0 PR ELIT I 44
J (290%48%184mm) gi”% 1
Gun black mattress non—slip hook
HEH 22 [ 5 002A1 (1975%48%38mm)
K |reinforcement bar for side eggggéﬁy 2
s1at002A1 (1975%48%38mm)
0 £ 5— (30%30%16mm) L7 9 A
Angle code —(30%30%16mm)L. type Qﬁg
p M4x16 FH BiE 22 3
M4*16 slef tapping screw
< M4%40 slef tapping screw %ﬁp 4
# & Draw C20 Page NO. 7164 (3-1)
273 T . HTool ZdE N Installer
577 e A T HE A A AHEATHE 3 TFiE2T]
- EASKTUAHRR RIS Cordless hand drill
Solid wood strip frame supporting Phillips screwdriver
accessories
M4%30 5 BhE 22=17
M4%30 slef tapping
screw=17

STEP 1

4. PREMI %% m

Figure 4: Bed foot installation diagram

Steps@)
PR

Side of
the bed

KR |Steps®@

end of| FRAN|

bed Side of
the bed

NzE
end of

bed

1/Tigure 1




STEP 2:

This hole 1s opposite the screw
hole (Matching M8%15 hammer head)

BEALA E IR AL

(RESIEILL:REY

42/figure 2

3—2

44/figure 4

STEP 4:

EAEIRIR . RS e &k

REBHIARTT B CunlE o)

Kk

fEp

Installation tips: The bed side skeleton
reinforcement strips are stuck on the
wooden square brackets at the head of the

bed (as shown in the picture)

3/figure 3




STEP o:

Tips for installation: Solid wood strip
skeleton is laid on the bed side skeleton

reinforcement strip (as shown in the figure)
TAEHEIN T SR
RONHER ZE N 26 CanBE Frs)

Ny
A}

bl

I\ FIM4%30 H MR 225 124% LA ] 7€ SEAR 5

b1

B

yals]
T o
2+ SEARSKICHRE ZEDY A 5 FAIMA%30 H TR 22 5] 7€

3. HYUE 22 [H] g SUR KL HRE S0 PR ] 1 38 n] A4
Note:
1. Use M4*%30 self-tapping screws *12 to fix the solid wood strip row frame according to the hole position.

2, solid wood strip row frame four corners without M4*30 self tapping screws fixed.
3, self-tapping screws fixed solid wood strip row skeleton steps optional installation.

33




	安装图模框01
	安装图模框02
	安装图模框03

